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1 | [zoom] 1A (elementary) *& 24A|7H(2/7 - 2/24) /sl/==/= | 08:00~10:00 | John Edward Chung | 15 | 153,000
2 | [zoom] 2A (pre-intermediate) *& 18A|ZH2/7 - 2/24) &/zt/a=/= | 10:00~11:30 & ZIot 15 | 144,000
3 | [zoom] 3A (intermediate) *& 18A|7H(2/7 - 2/24) A/st/a/5 | 13:00~14:30 = 2o} 15 | 144,000
4 | [zoom] YEH20| Z L3t Sentence Skills A *& 20A|2H2/7 - 2/23) /3 09:00~11:30 o2y 10 | 142,000
5 | [zoom] O|Z A FAA *& 6A|2H2/8 - 2/24) at/5 12:00~13:00 el 15 | 39,000
1 | [zoom] 2|2tE 2ot Y20 Y21 (1THA) *& 24A[ZE (2/7 ~2/24) /325 | 13:00~15:00 Bt g 15 | 145,000
2 | [zoom] 2|BHE fITH L2 LE1 REHA) *E 24A| 7t (2/7~2/25) sl/4/=/2 | 17:00~19:00 | KOMATSU YOSHITAKA [ 15 | 110,000
3 | [zoom] 2|2HE et Y20 EF24EHA) T 24|12t (2/7~2/25) /35t/2/3 | 19:00~21:00 | KOMATSU YOSHITAKA | 15 | 145,000
4 | [zoom] €20 =& TG *E 12A2F (2/8 ~ 2/24) /= 10:00~12:00 B 15 | 110,000
5 | [zoom] Y20 A|A ZEH L= & 5 *T 12A12F (2/7~2/25) /3 09:00~11:00 | KOMATSU YOSHITAKA [ 15 | 110,000
6 | [zoom] Y202 i1 Lotz Y= 23}HQ) *B 21A12 (2/7~2/25) (2/8 B ) /sl/4/2/2| 13:40~15:10 | KOMATSU YOSHITAKA | 15 | 110,000
7 | [zoom] JLPT N1 A|& CHH| 2 2| *& 24A|2F (2/7~2/25) /3 11:00~13:40 | KOMATSU YOSHITAKA | 15 | 145,000
8 | [ZOOMZ 2] 2[3tE 2[8t ST 0] 4-4 *T 24A|7H (2/7~2/24) &/sl/a/= | 09:00~11:00 s8d 15 | 73,000
9 | [zoom] 2|2HE Tt HUO| =G *F 18A[7F (2/7-2/25) /3 09:00~11:00 Zoj2 15 | 145,000
10 | [zoom] SO 28 03|t S38}i3 *F 18AI2F (2/7-2/25) /53 19:00~21:00 Zoj 15 | 110,000
11 | [zoom] 2|3}HE et ZTRAO XF1 *E518A|7t (2/8-2/25) /a3 09:30~11:30 Desandre Helene 15 | 145,000
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